

النكاح بالتجزئ

$$\int u dv = uv - \int v du$$

① P. 37

$$\int x \cos x dx$$

$$u = x \quad dv = \cos x dx$$

$$du = dx \quad v = \sin x$$

$$= x \sin x - \int \sin x dx$$

$$= x \sin x + \cos x + c$$

$$\textcircled{a} \int (x-3) e^{x-3} dx$$

② P. 38

$$u = x-3$$

$$dv = e^{x-3} dx$$

$$du = dx$$

$$v = e^{x-3}$$

$$= (x-3) e^{x-3} - \int e^{x-3} dx$$

$$= (x-3) e^{x-3} - e^{x-3} + c$$

$$\textcircled{b} \int 4x e^{-5x} dx = \frac{-1}{5} \int (4x) (-5) e^{-5x} dx$$

$$u = 4x \quad dv = -5 e^{-5x} dx$$

$$du = 4 dx \quad v = e^{-5x}$$

$$= \frac{-1}{5} [4x e^{-5x} - \int 4 e^{-5x} dx]$$

$$= \frac{-1}{5} [4x e^{-5x} - \int \frac{-1}{5} 4 (-5) e^{-5x} dx]$$

$$= \frac{-1}{5} [4x e^{-5x} + \frac{4}{5} e^{-5x}] + c$$

$$= \frac{-4}{5} x e^{-5x} - 4 e^{-5x} + c$$

$$\int \ln x \, dx$$

③ P. 38

$$u = \ln x \quad dv = dx$$
$$du = \frac{1}{x} dx \quad v = x$$

$$= x \ln x - \int \frac{1}{x} \cdot x \, dx$$

$$= x \ln x - \int 1 \, dx = x \ln x - x + C$$

$$\int (x+1) \ln(x+1) \, dx$$

④ P. 39

$$= \int t \ln t \, dt$$

$$t = x + 1$$
$$dt = dx$$

$$= \frac{t^2}{2} \cdot \ln t - \int \frac{t^2}{2} \cdot \frac{dt}{t}$$

$$u = \ln t \quad dv = t \, dt$$
$$du = \frac{dt}{t} \quad v = \frac{t^2}{2}$$

$$= \frac{t^2}{2} \cdot \ln |t| + \frac{1}{4} t^2 + C$$

$$= \frac{t^2}{2} \ln |x+1| + \frac{1}{4} (x+1)^2 + C$$

$$\int x^2 \sin x \, dx$$

⑤ P. 39

$$u = x^2 \quad dv = \sin x \, dx$$
$$du = 2x \, dx \quad v = -\cos x$$

$$= -x^2 \cos x + \int 2x \cos x \, dx$$

$$u = 2x \quad dv = \cos x \, dx$$

$$du = 2 \, dx \quad v = \sin x$$

$$= -x^2 \cos x + 2x \sin x - \int 2 \sin x \, dx$$

$$= -x^2 \cos x + 2x \sin x + 2 \cos x + C$$

$$I = \int x^2 e^{x+2} dx$$

⑥ P. 40

$$u = x^2 \quad dv = e^{x+2} dx$$

$$du = 2x dx \quad v = e^{x+2}$$

$$I = x^2 (e^{x+2}) - \int 2x e^{x+2} dx$$

$$u = 2x \quad dv = e^{x+2} dx$$

$$du = 2 dx \quad v = e^{x+2}$$

$$I = x^2 e^{x+2} - \left[2x e^{x+2} - \int 2 e^{x+2} dx \right]$$

$$= x^2 e^{x+2} - 2x e^{x+2} + 2 e^{x+2} + c$$

$$I = \int e^x \cos x dx$$

⑦ P. 41

$$u = e^x \quad dv = \cos x dx$$

$$du = e^x dx \quad v = \sin x$$

$$= e^x \sin x - \int e^x \sin x dx$$

$$u = e^x \quad dv = \sin x dx$$

$$du = e^x dx \quad v = -\cos x$$

$$I = e^x \sin x - \left[-e^x \cos x + \int e^x \cos x dx \right]$$

$$= e^x \sin x + e^x \cos x - \int e^x \cos x dx$$

$$I = e^x \sin x + e^x \cos x - I$$

$$2I = e^x \sin x + e^x \cos x$$

$$I = \frac{1}{2} [e^x \sin x + e^x \cos x] + c$$

التكامل باستخدام الكسور الجزئية

① P. 43

$$f(x) = \frac{2x-1}{x^2-4x+3}$$

$$\frac{2x-1}{x^2-4x+3} = \frac{2x-1}{(x-1)(x-3)} = \frac{A_1}{x-1} + \frac{A_2}{x-3} \quad \text{الكسور الجزئية (a)}$$

$$= \frac{A_1(x-3) + A_2(x-1)}{(x-1)(x-3)}$$

$$2x-1 = A_1(x-3) + A_2(x-1)$$

بوضع $x=3$

$$2(3)-1 = A_1(0) + A_2(3-1)$$

$$5 = 2A_2 \Rightarrow \boxed{A_2 = \frac{5}{2}}$$

بوضع $x=1$

$$2(1)-1 = A_1(1-3) + A_2(0)$$

$$1 = -2A_1 \Rightarrow \boxed{A_1 = -\frac{1}{2}}$$

$$\therefore \frac{2x-1}{x^2-4x+3} = \frac{-1}{2(x-1)} + \frac{5}{2(x-3)}$$

$$\begin{aligned} \text{(b)} \int f(x) dx &= \int \frac{-1}{2(x-1)} dx + \int \frac{5}{2(x-3)} dx \\ &= -\frac{1}{2} \ln|x-1| + \frac{5}{2} \ln|x-3| + C \end{aligned}$$

② P. 44

$$\int \frac{x^2 - 2}{2x^3 - 5x^2 - 3x} dx$$

$$\frac{x^2 - 2}{2x^3 - 5x^2 - 3x} = \frac{x^2 - 2}{x(2x+1)(x-3)}$$

$$= \frac{A_1}{x} + \frac{A_2}{2x+1} + \frac{A_3}{x-3}$$

$$= \frac{A_1(2x+1)(x-3) + A_2 x(x-3) + A_3 x(2x+1)}{x(2x+1)(x-3)}$$

$$\therefore x^2 - 2 = A_1(2x+1)(x-3) + A_2(x)(x-3) + A_3(x)(2x+1)$$

$x=0$ tip

$$-2 = A_1(1)(-3) + A_2(0) + A_3(0)$$

$$-2 = -3A_1 \Rightarrow \boxed{A_1 = \frac{2}{3}}$$

$x=3$ tip

$$3^2 - 2 = A_1(7)(0) + A_2(3)(0) + A_3(3)(7)$$

$$7 = A_3(3)(7) \Rightarrow \boxed{A_3 = \frac{1}{3}}$$

$x = -\frac{1}{2}$ tip

$$\frac{1}{4} - 2 = A_1(0)(-\frac{1}{2}-3) + A_2(-\frac{1}{2})(-\frac{1}{2}-3) + A_3(-\frac{1}{2})(0)$$

$$\frac{1}{4} - 2 = A_2(-\frac{1}{2})(-\frac{7}{2})$$

$$\frac{-\frac{7}{4}}{\frac{7}{4}} = A_2(\frac{7}{4}) \Rightarrow \boxed{A_2 = -1}$$

$$I = \int \frac{\frac{2}{3}}{x} dx + \int \frac{-1}{2x+1} dx + \int \frac{\frac{1}{3}}{x-3} dx$$

$$= \frac{2}{3} \int \frac{1}{x} dx - \frac{1}{2} \int \frac{2}{2x+1} dx + \frac{1}{3} \int \frac{1}{x-3} dx$$

$$= \frac{2}{3} \ln|x| - \frac{1}{2} \ln|2x+1| + \frac{1}{3} \ln|x-3| + c$$

$$\int \frac{4x^2 - 4x + 1}{x^3 - 2x^2 + x} dx$$

③ P. 45

$$\frac{4x^2 - 4x + 1}{x^3 - 2x^2 + x} = \frac{4x^2 - 4x + 1}{x(x^2 - 2x + 1)} = \frac{4x^2 - 4x + 1}{x(x-1)^2}$$

$$= \frac{A}{x} + \frac{B}{x-1} + \frac{C}{(x-1)^2}$$

$$= \frac{A(x-1)^2 + Bx(x-1) + Cx}{x(x-1)^2}$$

$$\therefore 4x^2 - 4x + 1 = A(x-1)^2 + Bx(x-1) + Cx$$

$x=0$ چپ

$$1 = A(1) + B(0)(-1) + C(0)$$

$$\boxed{A=1}$$

$x=1$ چپ

$$4(1)^2 - 4(1) + 1 = A(0) + B(1)(0) + C(1)$$

$$\boxed{1=C}$$

$x=2$ چپ

$$4(2)^2 - 4(2) + 1 = 1(2-1)^2 + B(2)(2-1) + 1(2)$$

$$9 = 1 + 2B + 2$$

$$9 - 3 = 2B \Rightarrow \boxed{B=3}$$

$$\therefore I = \int \frac{1}{x} dx + \int \frac{3}{x-1} dx + \int \frac{1}{(x-1)^2} dx$$

$$= \ln|x| + 3 \ln|x-1| - \frac{1}{x-1} + C$$

$$\int \frac{x^2 + 1}{x^3 + 4x^2} dx$$

(4) P. 46

$$\begin{aligned} \frac{x^2 + 1}{x^3 + 4x^2} &= \frac{x^2 + 1}{x^2(x+4)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x+4} \\ &= \frac{Ax(x+4) + B(x+4) + Cx^2}{x^2(x+4)} \end{aligned}$$

$$x^2 + 1 = Ax(x+4) + B(x+4) + Cx^2$$

$x=0$ چپ

$$1 = A(0)(0+4) + B(0+4) + C(0)^2$$

$$1 = 4B \Rightarrow \boxed{B = \frac{1}{4}}$$

$x=-4$ چپ

$$(-4)^2 + 1 = A(-4)(0) + B(0) + C(-4)^2$$

$$17 = C(16) \Rightarrow \boxed{C = \frac{17}{16}}$$

$x=1$ چپ

$$1^2 + 1 = A(1)(1+4) + \frac{1}{4}(1+4) + \frac{17}{16}$$

$$2 = 5A + \frac{5}{4} + \frac{17}{16}$$

$$5A = 2 - \frac{5}{4} - \frac{17}{16} \Rightarrow \boxed{A = -\frac{1}{16}}$$

$$I = \frac{-1}{16} \int \frac{1}{x} dx + \frac{1}{4} \int x^{-2} dx + \frac{17}{16} \int \frac{1}{x+4} dx$$

$$= \frac{-1}{16} \ln|x| + \frac{1}{4x} + \frac{17}{16} \ln|x+4| + C$$

⑤ P. 47

$$\int \frac{x^3 - 2x^2 - 4}{x^3 - 2x^2} dx$$

$$\begin{array}{r} 1 \\ x^3 - 2x^2 \overline{) x^3 - 2x^2 - 4} \\ \underline{-x^3 + 2x^2} \\ -4 \end{array}$$

$$I = \int 1 dx + \int \frac{-4}{x^3 - 2x^2} dx$$

$$\begin{aligned} \frac{-4}{x^3 - 2x^2} &= \frac{-4}{x^2(x-2)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x-2} \\ &= \frac{Ax(x-2) + B(x-2) + Cx^2}{x^2(x-2)} \end{aligned}$$

$$-4 = Ax(x-2) + B(x-2) + Cx^2$$

$x=0$ ipz

$$-4 = A(0)(0-2) + B(0-2) + C(0)^2$$

$$-4 = -2B \Rightarrow \boxed{B=2}$$

$x=2$ ipz

$$-4 = A(2)(2-2) + B(2-2) + C(2)^2$$

$$-4 = 4C \Rightarrow \boxed{C=-1}$$

$x=1$ ipz

$$-4 = A(1)(1-2) + 2(1-2) + -1(1)^2$$

$$-4 = -A - 2 - 1 \Rightarrow \boxed{A=1}$$

$$I = \int 1 dx + \int \frac{dx}{x} + \int 2x^{-2} dx - \int \frac{1}{x-2} dx$$

$$= x + \ln|x| - \frac{2}{x} - \ln|x-2| + C$$

$$\int \frac{x^3 - 7x + 9}{x^2 - 3x + 2} dx$$

P. 48

$$\begin{array}{r} x + 3 \\ \hline x^2 - 3x + 2 \quad \left| \begin{array}{r} x^3 \\ - x^3 + 3x^2 - 2x \\ \hline 3x^2 - 9x + 9 \\ - 3x^2 + 9x - 6 \\ \hline 3 \end{array} \right. \end{array}$$

$$= \int (x+3) dx + \int \frac{3 dx}{x^2 - 3x + 2}$$

$$\begin{aligned} \frac{3}{x^2 - 3x + 2} &= \frac{3}{(x-1)(x-2)} = \frac{A}{x-1} + \frac{B}{x-2} \\ &= \frac{A(x-2) + B(x-1)}{(x-1)(x-2)} \end{aligned}$$

$$\therefore 3 = A(x-2) + B(x-1)$$

$$3 = A(1-2) + B(0) \Rightarrow \boxed{A = -3} \quad x=1 \text{ چله}$$

$$3 = A(0) + B(2-1) \Rightarrow \boxed{B = 3} \quad x=2 \text{ چله}$$

$$I = \int (x+3) dx + (-3) \int \frac{1}{x-1} dx + 3 \int \frac{1}{x-2} dx$$

$$= \frac{1}{2} x^2 + 3x - 3 \ln|x-1| + 3 \ln|x-2| + c$$

$$\int \frac{2x^4 + 3x^2 - 7}{x^3 - 6x^2 + 9x} dx =$$

(7) P. 49

$$2x + 12$$

$$x^3 - 6x^2 + 9x$$

$$\begin{array}{r} 2x^4 + 3x^2 - 7 \\ -2x^4 + 12x^3 - 18x^2 \\ \hline 12x^3 - 15x^2 - 7 \\ -12x^3 + 72x^2 + 108x \\ \hline 57x^2 - 108x - 7 \end{array}$$

$$= \int (2x + 12) dx + \int \frac{57x^2 - 108x - 7}{x^3 - 6x^2 + 9x} dx$$

$$\begin{array}{r} 12x^3 - 15x^2 - 7 \\ -12x^3 + 72x^2 + 108x \\ \hline 57x^2 - 108x - 7 \end{array}$$

$$\frac{57x^2 - 108x - 7}{x^3 - 6x^2 + 9x} = \frac{57x^2 - 108x - 7}{x(x^2 - 6x + 9)} = \frac{57x^2 - 108x - 7}{x(x-3)^2}$$

$$= \frac{A}{x} + \frac{B}{x-3} + \frac{C}{(x-3)^2}$$

$$= \frac{A(x-3)^2 + Bx(x-3) + Cx}{x(x-3)^2}$$

$$\therefore 57x^2 - 108x - 7 = A(x-3)^2 + Bx(x-3) + Cx$$

$x=0$ بولچ

$$-7 = 9A \Rightarrow A = \frac{-7}{9}$$

$x=3$ بولچ

$$513 - 324 - 7 = 3C \Rightarrow C = \frac{182}{3}$$

$x=1$ بولچ

$$57 - 108 - 7 = 4\left(\frac{-7}{9}\right) + (-2B) + \frac{182}{3}$$

$$\Rightarrow B = \frac{520}{9}$$

$$I = \int (2x + 12) dx + \left(\frac{-7}{9}\right) \int \frac{1}{x} dx + \frac{520}{9} \int \frac{dx}{x-3} + \frac{182}{3} \int \frac{dx}{(x-3)^2}$$

$$= x^2 + 12x - \frac{7}{9} \ln|x| + \frac{520}{9} \ln|x-3| + \frac{182}{3(x-3)} + C$$